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TN HERE = 1 43, 822, 824
LT = 1 19, 729, 421
HERS b= T = 1 1, 544,400 |$@H!] 5, 500 m3
THp A7 iy L EEME 5, 000m3LL 10,
000m3 AT ;
HRHEI T = 1 539, 720 | #HH! 200 m3
Twp A7 iy HE EEM 5, 000m38L 10,
000m3 AT ;
T wb AT 1 X
0 Cabl- EHIRY £5Te) ;
e 1 =
BIIL (-27)
Bt 2 1 1,839,261 |B&A (B ME+ 200 m3
2. 5mAT ;
T wb AT 1 X
0 CaBl- EHIRY £5Te) ;
FHIA (=27) 1 =X
+1 &850, 000m3ATH ;
Rkt A = 1 274,040 |{EMEFETE (8] 156) 200 m2
BRI v+ R OWYE + kit
LRI (3% 1350) 200 m2
T i S O I BRI
P v T = 1 15,532, 000 | 1-Wh S5 1EH; 1 2V
0 CaBl- EHIRY £5Te) ;
¥ LWLy 1 X
IR = 1 252, 700
fiA T 2 1 252,700 |IE% 100 m2
EZ T 100m2LL F300m2AT ;
SRS (B kB0 flifs T 2 1 160, 510
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TAT 7 MRS T = 1 26,424 | TJEEAE (HE - BE ) 10 m2
BTy r77 RC-40 A VW E 150mm ;
=8 (§E - BEE) 10 m2
FRAE BRI EET A2/ (20) AF2EE 50mm 3. OmiZ ;
+o5T = 1 134,086 |+ 5 10 m2
A E T = 1 512, 114
/) =47 my ) T (577 vy /5R) = 1 207,500 |[H&17 mysiE 10 m2
150kg/fE AT 752 350mm JBI(7° ARG R
C-40 18-8-40 (FF) WEAV—ME ;
BB T = 1 304,614 | BUBFTREE: 1 (B
18-8-40 (FJF) ;
R [ 6D T Y 1 14, 293, 500
FR[E D7 ny) T =Y 1 14,293,500 |4855ER 650 geS
2t (RHIERERY) BEAM ;
Y EE T = 1 332, 952
Bk E T =Y 1 289, 552 | Fakav))-h 100 m2
t=100mm 18-8-40 (&%) ;
Bk T Y 1 43,400 | /K= 5 m
FRRTIVINT. hE12emAayFif M
X R T = 1 3,691
X R T = 1 3,691 | VARl m#E 10 m
WA FE) R 15em JEL Smm PEAKMEEHIEHE
H
s L Y 1 589, 790
JEESRALERE T Y 1 589, 790 | BX1E B ALFR 1, 000 m2
HERE BB ST ULE (Bl ) 50 m3
VU%ax ¢ 50 m3
AL T
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SN AL T =Y 397, 416
S BLERESE T = 397,416 |hnadEE 1 =
VU%ax ¢ 1 F2V
AL
rGan Y 7, 550, 730
TEHERKT Y 265, 730 | L2 HE 1 1 2V
(FxE)
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TEHEREL 1 2V
()
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A ERE E T = 7,285,000 | AZiEAEEE K 1 =
[ERAE Xy = 43, 822, 824
HiE 2 = 3, 374, 000
s E (i) = 3, 374, 000
T = 47,196, 824
Bl PRy = 13, 080, 000
T =5l = 60, 276, 824
— R A = 10,073, 176
T =AM = 70, 350, 000
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